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ZR-YJV-0. 6/1KV 4%70+35
ZR-YJV-0. 6/1KV 4%50+25
ZR-YJV-0.6/1KV 4%35+16
ZR-YJV-0.6/1KV 4%25+16
ZR-YJV-0.6/1KV 5%16
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ZR-YJV-0.6/1KV 5%2.5 K 7800
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ZR-YJV-0.6/1KV 3%6 P/ 2300
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ZR-YJV-0.6/1KV 3%10 K 100
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NH-YJV-0. 6/1KV 4*16
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NH-YJV-0. 6/1KV 3%2. 5
NH-YJV-0. 6/1KV 5%2. 5
NH-Y JV-0. 6/1KV 4%2. 5 5800
NH-1KVV- 7%1.5 N 6200
NH-YJV-0. 6/1KV 4%35 * 80
NH-YJV-0. 6/1KV 3%35 * 80
NH-YJV-0. 6/1KV 4%25 * 80
NH-YJV-0. 6/1KV 3%25 * 80
NH-YJV-0.6/1KV 4%50+25 | 3 2450
NH-YJV-0. 6/1KV 5%6 * 700
NH-YJV-0. 6/1KV 34 ¥ 35
NH-Y JV-0. 6/1KV 3%6 ¥ 100
NH-YJV-0. 6/1KV 5%4 * 220 =
NH-YJV-0. 6/1KV 3%70 ¥ 56 fjﬁzﬁﬁﬁ_?_a
NH-YJV-0. 6/1KV 3%70+35 | 2 56 | 4
NH-YJV-0. 6/1KV 3%35 * 100
NH-YJV-0. 6/1KV 395 ZS 85
NH-YJV-0.6/1KV 3%95+50 | 3k 85
NH-KVV- 2%1.5 Xk 360
NH-YJV-5:%10 * 290
WDZR-Y JY-4*95+50 * 268
NH-YJV-240 * 510
NH-YJV-120 % 360
NH-Y JV-4%240+1%120 #* 600
NH-Y JV-4%185+1%95 * 1250
NH-Y JV—3%185+2+95 * 180
NH-YJV-3%240+2%120) * 350

o

1700
1500
5300

300

&
e
"

o
&
>

rity
o
2k

iy
T
o
o
=

ey
%

6300
2100

iy
£
*

iy
&
.

s
=

g
o=

iy
5

Ly
55

iy
&5

o
=

Im
e
=

2
e

14
=

di
o

el
gﬁ%

&
=5

&
S5

iy
5

e
&5

=
o

eiiy
&R

ey
oo

o
i

iy
B

%%
[k

=
E=

it |
e

A
[

FEH: 1. Fﬁﬁﬂﬁﬁﬁﬁﬁéﬁﬁ! / o
20 FE 3R




2+ TR AT HLAT G 5 B SR v R AT W BT R E B R A AR K

3. FriR B & AN _13% MERL AR, BEART EYEm. B R, .
o R A I R 95 5

4, MBS MR A MR, O mlREG . SFIE. RIS, R THIEAS.

5. FAPRER: /

6 A dh ERVER K /

7. 7R BARHORSHORERVE IV WA /

. fAETTAL HIER:
KECCLT A3 F05 R SRR A 3K

(1) HLETK: /
(2) FKENK I /

(3) sl SFRZIT Hitd 10 MTAERW, FA 47 &R 10%E T,
AT B R SR 50%, kIR THh 45 KE5TE .
(4) HAthm=: /

SO S AR A (B SR 5 S AR T B AR, B SR
I 4 G A EL SRR 7= A R BB £ T 1E . RSB BL KRR 13%
BRE R, RIS EE (ARSI, . SR, SA) B
ity 5 ./
S ROCBCROE AL PR E R P  RS F Et
i 5.
DY HOELE E: 2024 45 7 30 1 15:00, H7E IR PYE DU MM LMoL
. HEER /

[ =7 o
G AT R A

Rt 202440 A 14 1

>
>
O8]
p=)
N
st
(8]
=



